Math 208-1, Test # 3. Fall 2007 Name:
1[14P]) Find the centroid of the triangle with vertices at (0, 0), (0,4), and (8, 0).
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2[9P]) Set up the integral for the surface area A(S) of the part of the circular paraboloid z = 22+

that lies inside the cylinder z° +9? = 1. A(S) = SS ’\i |+ *0”31) ' 0 xoouj
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3[27P]) Evaluate the triple integrals. You might want to consider what coordinates is best to use!
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b) Let E be bounded by the pa,rabohc cylinder y = z? and the planes z = 6, y = 2z, and z = 0.
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4[12P]) Use spherical coordinates to evaluate the integral / / / = —_—
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where F is the unit ball 2 + 92 + 22 < 1.
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5[6P]) Compute the gradient vector field of the following two functions:
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6[12P]) Evaluate the line integral / 2rds= 2 + \‘) S~ where C consist of the line segment
c
from (0,0) to (2,1), followed by the line segment from (2,1) to (0, 1).
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7[8P]) Determine which of the following vector fields in conservative:
A) F(z,y) = (2zy, 2% + 3y°).
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B) F(z,y) = (z — y,2y).
oF - _\ )f%% =y N ot consexvative

03 ~
8[12P]) Evaluate the line integral [, F - dr O , where F(z,y) = (2zy,z> + 1) and C is
given by the vector function r(t) = (cos(t),sin(t)), 0 <t < . (-1 A
. 2 T
> P 2 Sr:,afz XS‘X =0
T T X
€, 0)

C

23
Q8 _ ax
ox _
So P vy (nn ovwahue
—\

F=N(x)



